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SCHOLARS ACADEMY

[ ENGLISH ]

Birds of a feather flock together

(@) Comparing two things (b)  People with differences
that cannot be compared can also unite under
1. Direction: Select the most appropriate antonym of the something common
given word. (c) Believe what people do (d) People who are alike are
MEDDLE and not what they say often friends
(@) Prize (b) Fortify
(c) Support (d) Ignore 9. Direction: Select the most appropriate meaning of the
given idiom.
2. Direction: Select the most appropriate antonym of the A penny saved is a penny earned
given word. (@) Whatyouhaveisworth  (b) Better to show than tell
DEJECTED more than what you
(@ Moody (b)  Doleful might have later
(©) Morose (d) Cheerful (c) Money you save today (d)  Saving money for later
you can spend later
3. Direction: In the following question, a sentence has been 1 1 1 L. i
given in Direct/Indirect Speech. Out of the four 0.(10-14) Direction: In tl.\e X following pass".age, some
alternatives suggested, select the one which best words have bee'n dele.ted. Fill in the blanks with the Ijelp
expresses the same sentence in Indirect/Direct Speech. of 'fhe alternatives given. Select the most appropriate
Ram says to me, “You are smart.” option for each blank. i
In order to promote reading, we must become role
(@) Ram tells me that | am (b) Ram tells me that you are .
models for the young by setting __ (1)___ our own
smart. smart. .
smartphones to lose ourselves in a book. We too
(c)  Ram tells me that | was (d) Ram told me that | am ___(2)___ switch off our devices and set aside space and
smart. smart. time to ___(3)___ old habits that once transported us to
the world of __ (4)___. Studies report that such deep
4. Direction: In the following question, a sentence has been reading leads one to become sensitive and ___(5)___
given in Active/Passive Voice. Out of the four alternatives citizens of the community.
suggested, select the one which best expresses the same Select the most appropriate option for blank no. (3.)
sentence in Passive/Active Voice. (@) reconstruct (b) reignite
Bipin was not told about the meeting.
] (c) redo (d) react
(@) Somebody did not tell (b) There was nobody who
Bipin about the meeting. COU|d_te” Bipin about the 11. Select the most appropriate option for blank no. (2).
meeting. (a) might (b) should
mi shou
(c) Nobody told Bipinabout  (d) The meeting was not told &
the meeting. about Bipin. (c) ought (d)  shall
5. Select the most appropriate option to fill in the blank. 12. Select the most appropriate option for blank no. (1).
He won the match quite easily he was out of (@) aside (b) out
practice. (c) apart (d) about
(@) eventhough (b) incase
(c) evenif (d) sothat 13. Select the most appropriate option for blank no. (4).
(@) imagines (b) imagination
6. Direction: In the following question, out of the four (c) imaginative (d) imagine
alternatives, choose the one which can be substituted for
the given sentence. 14. Select the most appropriate option for blank no. (5).
A person of evil reputation (a) thoughtfully (b)  thoughtless
(8)  Renowned (b)  Famous (c) thoughtfulness (d) thoughtful
(c) Notorious (d) Icon
15. Direction: In the following question, the given sentence
7. Select the alternative that will improve the underlined has four parts marked P, Q, R, and S. Choose the part of
part of the sentence in case there is no improvement the sentence with the error and mark it as your answer. If
select “No improvement”. there is no error, mark 'No error (S)' as your answer.
If | had been there | would surely solve the problem for Suresh have never (P) / encouraged nor (Q) /condoned
you. violence. (R) / No error (S)
(@) 1'would surely have (b)  1'will surely solves (@ P ) Q
solved (© R @ s
(c) 1'would surely solving (d) Noimprovement
16. Direction: In the given question, the sentence is split into
8. Direction: Select the most appropriate meaning of the four parts and named (A), (B), (C) and (D). These four
given idiom. parts are not given in their proper order. Read the
Mob. - 01141676717,9312712114 Page 2




SCHOLARS ACADEMY

sentences and find out which of the five combinations is
correct and mark the respective option.

(A) When it all welcome thaw in Australia’s long winter
(B) Perth, it was the best sign yet of a

(C) the fourth evening and fifth morning in

(D) came together on

B. Suddenly they spotted a loaf of bread lying beneath a
tree.

C. Once upon a time, two cats were passing through a
street.

D. Both pounced upon it and caught the loaf at the same
time.

(@) DCBA (b) DABC (@) ADBC (b) BADC
(c) ABDC (d) DBAC (c) DBCA (d) CBDA
17. Direction: Select the most appropriate synonym of the 25. Select the word which means the same as the group of
given word. words given.
TENACITY Sound of horses
(@) Idleness (b)  Timidity (@ Grunt (b)  Screech
(c) Firmness (d) Cowardice (c) Squeak (d)  Neigh
18. Direction: Select the most appropriate synonym of the
given word. [ REASONING ]
PLEASANT
(@) Tiresome (b) Tedious
(c) Refreshing (d) Exasperating 26. fufafea mﬁwml
e25,j100, 0225,
19. Direction: In the following question, out of the given four Complete the following series.
alternatives, select the one which best expresses the e25,j100, 0225,
meaning of the given word. (& t400 (b) q400
Shrink (c) u250 (d) m250
(&) Develop (b)  Diminish
(c) Expand (d) Stretch 27. Q, Jat Ft gan & 12 9 Bter 81 A B Iy ITF
3R guf &Y 39 F1 40% 81 Gat Pt 39 9 af a1¢ A
20. Direction: Select the most appropriate option to ﬁ'lﬁ?
substitute the underlined segment in the given sentence. Ravi is 12 years younger than Surya. Ravi's age is 40% of
If there is no need to substitute it, select the option "No the sum of his and Surya's age. What will be Surya's age
improvement" required. after 9 years?
David denied to help William in studying. (@ 45 (b) 24
(@) denied helping (b) denied to helped (c) 33 d) 36
(c) denied to be help (d) Noimprovement
28. &M (+) HHal HI ggeq MR Ry U wliemwor ot
21. Which of the following is a wrong spelling? 'ﬂgﬁﬁ[ 1 & g nfordta TPal & T8 HUe &1
(&) Embarass (b) Acknowledge T B
(c) Conscious (d) Definite Direction: Select the correct combination of
mathematical signs to replace (*) signs and to balance the
22. Direction: Select the most appropriate option to fill in the given equation.
blank. 16*6*4*24
The old woman walked carefully with her heavy load @ +=x (b) x,=+
__ she should fall. () =++ (d) x=,x
(@ unless (b) until
(c) although (d) lest 29. %ﬁ@ﬁmmﬁﬁﬂmﬁéﬁ?wmﬁ
|
23. Direction: Select the most appropriate option to fill in the Direction: Study the image carefully and choose the
blank. correct mirror image.
The entry gates were closed ____ we could enter in.
(@) till (b) before XiX
(c) after (d) until
¥
24. Direction: In the following question, sentences of a
paragraph have been jumbled and labeled as A, B, C and
D. You are required to rearrange the jumbled sentences (@) (b) d
of the paragraph and mark your response accordingly by
selecting the correct option.
A. “It is mine. | saw it first," claimed one cat.
(c) (d)
Mob. - 01141676717,9312712114 Page 3




SCHOLARS ACADEMY

30.

%ﬁ:wﬁmwmﬁawaﬁaﬁ?wmwﬁ
|

Direction: Study the image carefully and choose the

correct mirror image.
X

2|
43 (b) :y

@)
(©)

36.

Direction: Select the option that is related to the third
letter-cluster in the same way as the second letter-cluster
is related to the first letter-cluster.
REASON : SFBTPO :: THINK : ?
SGHM)J (b)

UHNKI (d)

TS U at §f FRuforll 3t feaman wan 21 3 fargait @
sifrd o & faudia wae W Ry« forgsii @1 we
I DI

Two positions of a dice are shown. Find the number of

uljoL
UJKPM

@) the dots on the face opposite the face bearing 3 dots.
A B .. .. .. .. o
= = e % | [e o °°
© (d) AR
31. *Adbdl B ggeq MR Fufead afiezor # wgfea @) (b) 2
P F fore wfvrdig Wddal & T Jae BT a9 © 3 d s
BN
Select the correct combination of mathematical signs to 37. aﬁmﬁﬁ@ﬁmmﬁﬁﬁv
replace * signs and to balance the following equation: Find the number of triangles in the given figure.
8*%¥8%1*%7=8
(@ x=+ (b) +x=+
() +x+ d) -x=
32. fydn: v e &1 8 @ forwd ue ug g @1 ey @) 8 () 10
fapeul ¥ 9 98 U fawew gFY, S g 1 @ © 12 d) 14
o |
Direction: A series is given with one term missing. Select 38. feu A fawedl & A HiH-A1 fddca T g1
the correct alternative from the given ones that will Find out the odd one from the given alternatives.
;:r::::.etzeltGh3e3sir7i:37 11543,? (8)  BWAISAK (b) - UNTIB
! ! ! ' (c) RICHDBQB (d) usmul
(@) 4vys1 (b) 3Y51
(c) 3252 (d) 4z52 39. TR HNTH & TH ghs B WIS &1 HH N forg
e ¥ YT g SN PIeT TT 8, I pfaa o
33. 'q'%’#a’-l'\?ﬂf'x’%, l+'m3[?‘fl+'%, 'X'm\-ﬂ'ﬁl'l%aﬁ? mﬁ%ﬁmﬁw“whﬁ@m?
1 3 ‘+’.%.' ar o . ., The sequence of folding a piece of square paper and the
If ‘+’hmeans x', “/ means +, ’x’ means "’ and *’ means manner in which the folded paper has been cut is shown
‘+’, then
54+3-6+2x6=7?
(@ 25 (b) 324
(c) 210 (d 23
34. =1 39 3@ Y U B ol ik R a i & °
g TdY 1 gaN 3T i1 8 o o
wfga, drar, fiar o b
Direction: Identify the diagram that best represents the @ (0)
relationship among classes given below: 00 o o
Women, Mother, Father e ©
o o
@D fei © o) @l
b . :
@) (b) 40. fE=r: Ru U Hy= (@yAY) 3R FAewuf &1 wrgde
gfed 3R I P F F A Frepd few T Hy=)
@D ©O0 BT dIfhe ¥U A TRV HIAT B |
© (d) BY:
It FapAR B B
35. fA3=r: 39 fawey &1 9u= ¥ o TR SrerR-uqg 9 PIE W B AUea el 31
M TR HElta 8 I gIRT SIER-TYE U 3A&R- s . o
g AHaR@ g . PO B AYCTT TE1 5|
Il. T8 BIF hapaes ol
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SCHOLARS ACADEMY

Direction: Read the given statement(s) and conclusions (c) 172 (d) 168
carefully and select which of the conclusions logically
follow(s) from the statement(s). 47. T 3T WHAR §, oY 61 fe9 & a1 aren o9 3d
Statements: aﬂﬁﬂ!?
Al calculat.or is phones. If today is Monday, then find the day after 61 days?
No phone is laptop. . b
Conclusions: (@) HIAAR Tuesday (b) X 4 X Saturday
I. Some Phones are not laptop. (c) AR Monday (d) <XI[PdR Friday
Il. Some phone are calculator.
(@) Fad I FTRUGAT (b)) HIA I HTERUFAT S 48. SR TP 1 IO Forerdl wef arpfer AR 82
Only | follow Only Il follow Find the answer figure in which the question figure is
: 3WW TR : embedded?
© | GﬁT ! Eﬂ:ﬁ @ ﬁ_g ol Hﬁ’[ UM GI'ITET /Question figure:
% Both I and Il follow W% None follow N ’ gure:
41. R+ AR -, '5' 3R '8 B! B WER g A & |
o FrafafEa aiteon & @ w9 a1 g g sar @2
If we interchange signs '+' and '-', digits '5' and '8' which
among the following equations become correct? —
(& 52-35+55=72 (b) 82-35+55=102
W&@Ia: A Fi :
(c) 85-38+85=132 (d) 82-35+55=2 / Answer Figure
— ™
42. 39 fdoeu &1 9= PR & TR ieR-a9e @ st N
YHR Hafd 8, O yeR GERT JeR-AE, Ued A B c b
N&R—Wﬁﬂ@ﬁﬁ%l (@) WA Figure A (b) &ﬂqv—ﬁf B Figure B
Select the option that is related to the third letter-cluster &ﬂw CFi c d &r@_ﬁ DFi b
in the same way as the second letter-cluster is related to © lgure @ lgure
the first letter-cluster. . . .
Mo\,'E_QLGU_.zALM_, 49. frufafEd wsgl & SRS AgHIN |, IT6 HH &
a) CBQK b) BCOK RS oif <
@) Q (b) Arrange the following words as per their order in the
(c) oOkBC (d) cBOK English dictionary.
. 1) Dyke
43. TS fAfYd s HTUT § COMPUTER B RFUVQNPC & 2) Dwindle
U ¥ forar a1 81 I Bs 9T & mepicine B T 3) Dwell
YR forar S @ 3,21 () 1,32
In a certain code language, COMPUTER is written as © 321 @ 21,3
RFUVQNPC. How is MEDICINE written in the same code? " n
()  EOIDEIFM (b)  EOIDIEFM 50. firan, wftur ok Frere 3 st 3 81 R, e
(C)  MFEDIOE (d)  MFEIDIOE & faan ok F1oa & g 7)1 i, Ffee @ 5
v o TPR dafta 82
44. g Eﬁqpf EI.§ I SIQ I Priya is the only daughter of Pravin and Kajal. Nikhil is the
Com;_)lete the following series. father of Rohan and the son-in-law of Kajal. How is Priya
e25,j100,0225, related to Nikhil?
(@) 400 (b)  q400 @ S Daughter (b) qreht Granddaughter
(©)  u250 (d)  m250 © N Niece d) et wife
45. fd=n: &5 @ ® uy faeg (2) & R_IM R gud 9@ — _
I PRI [ Quantitative Aptitude ]
Direction: Find the missing number in place of the
question mark (?) in the given series. ) )
19, 18, 34,99, ?, 1955, 11724 3+ 3 =2 . :
(@) 340 (b) 450 51. et P TGP B aTd X & AL BT
(c) 325 (d) 392 ’ R )
- - - Th f values of X satistying £ T L0 = 2
46. &= & s sjraen ¥ uy freg (2) F RIF R gw W= is‘f sum of values of X satisfying
I Siforg| '
Direction: Find the missing number in place of the @ -3 (b) 7
question mark (?) in the given series. () -7 (d 3
7,9,12,48,?,890 ) -
(@) 128 (b) 190 52. Wﬁ'ﬁ\_’r ABC ﬁ, mﬂﬁﬁﬁ-ﬁﬁ%’
Mob. - 01141676717,9312712114 Page 5
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@
(©

53.

@
©

54.

@
©

55.

@
©

56.

In a triangle ABC, which of the following conditions is
true?
AB > CA +BC (b)
CA=AB +BC (d)

= ST @1 e | 1 R Fafafaa vy &
Il

Pda & "ot co, I A IR BT ARG (Uferr)
o adf & =graw ur

Direction: Read the information carefully and answer the
following question.

For a country,CO, emission (million metric tons) from
various sectors are given in the following table.

BC<AB-CA
BC<AB+CA

CO, S (e Fiedi o)
e |Rewedn [qbtwe [ @Y

2005 500 |200 150 80 100

2006 600 |300 200 90 110

2007 650 |320 250 100 120

2008 700 (400 300 150 150

2009 800 |450 320 200 180

Pa &7 Jaht co,IeE H IAW HT ANGH
(wfer=ra) for adf & =graw uT?

In which year, the contribution % of the industry to total
sectoral CO, emissions was minimum?

2005 (b) 2006

2007 (d) 2009
Frafafea & & o9 d@ Jer 29 & fRursa 32
Which of the following is divisible by 29?

875829 (b) 864133

951458 (d) 148964
fFrafafaa uy o 2 &1 919 719 Siforg
Find the value of '?' in the following question
91 DT 28.56% + 162 BT 44.44% = ? BT 400%

285 (b) 245

26.5 (d) 295

féar. fFafafad oo o1 39 o & ufoxa &1 gxifar
& S Prasl x A SoNafTT & U™ SrenT-3ren fawal
P UE HIA &1 SN & 5 ST-3renT faway &Y
g HR- a1 BT BT Ufa=a|

Direction: The following Pie charts show the percentage
of students who like five different subjects of engineering
from college x. Percentage of students who like 5
different subjects of engineering.

@)
(©)

57.

@)
(©)

58.

@)
(©)

59.

@)
(©)

60.

@)
(©)

W arwin saaciffga N Bfea saaciasw
H e 3k Reeanr O dreeeaans Barsa
Ma=fta dus

Prae x T ST $t Ho W= 1000 B 1
THTANT saaeie iR f$fed saei~e & e
FH ad B B HEH R Rya ok ey iR
deaugarrs fEomg= Y udig $31 ard Sl B J@
BT 3UTd T 32
Total number of students in college x is 1000.
Ratio of number of student who like analogue electronic
and digital electronics together to number of students
who like signals and systems and VLSI design together:
22: 19 (b) 11:19
33: 19 (d) 32:17

TRt 30 % B Fe AT 25 % P & HAP Fe 3R
2000 ¥UY F WRIGRI W feT 1T 5 % & &= &1 haar
T B TP | Ye & S AR T2

Sonali could not decide between a discount of 30% or two
successive discounts of 25% and 5% offered on a purchase
of Rs.2000. What is the difference between discount?

15300 (b) 25%0T
100 ¥4 d) ITHPLHH R

TS i SR e #1 B war 20 1 F SUIA A B 1 39F
TafRd Y8 & QAEa BT AJUTd T 82

A sphere and hemisphere have the radius in the ratio 2 :
1. The ratio of their respective total surface area is?

2:1 (b) 16:3
3:6 d 1:2

5 sin 15° sec 75° + 2 tan 45° + 3 sec? 30° aﬂqﬁﬂﬁﬁl
Find the value of 5 sin 15° sec 75° + 2 tan 45° + 3 sec? 30°
9 (b) 10

11 (d) 12

14 A $ATE & AP & 595 & g MATSR dg Dt

o 5 A ok 2 Tt @1 I W st Smga T4
_ 22

2 (m=%)

The radii of the two circular faces of the frustum of a cone

of height 14 CM are 5 CM and 2 CM. What is its volume

_ 22
inem®? (W T )
520 (b) 572
560 (d) 540

Mob.
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61. o AR U fAeT 25 %. A @ied § o 3 30%. &
JTd § 1 a1y yfe=ra g S|
Mr. Mahesh buys a toy for Rs. 25 and sells it for Rs. 30.
Find the gain percentage.

(@ 20% (b) 22%

() 25% (d 21%

62. o fafira gt & St =Ty @ TaTg IER 31 afe T Ay
9 & Fg fdg W 30° 3R 45° F U190 §, A g0 B
Brounaii 71 erguTa I1a B/ |
The length of two arcs of two different circles is equal. If
these arcs make angles of 30° and 45° at the center point
of the circle, then find the ratio of the radii of the circle.

(@ 2:1 (b) 5:2

(c) 3:2 (dy 24

63. 'A','' @I AT A I AT ST 4P | 3R TP B
PRI BIA A B B a1 A 10 &7 F7 Aar 31 I
BT DI 3Hd T HIA | B’ DI fba g7 @
‘A’ is three times as good a worker as ‘B’ and takes 10
days less than ‘B’ to complete a piece of work. How many
days will ‘B’ take to complete the same work alone?

(@ 12 (b) 15

(c) 20 (dy 30

64. 0.00 BT YA FTE?

What is the square root of 0.09?
(@) 0.003 (b) 3/100
(c) o0.03 (d 03

65. 3 Yl § U YRR 27 70N Y SITelt B | 98 T &= 91
P forg W affe ©u | e 1T Twgfs e W)
YRIRI G STt &

A sum of money increases 27 times in 3 years. Find the
interest rate at which money is given on compound
interest compounded annually.

(@ 250% (b) 200%

(c) 261% (d) 245%

66. Bffa &1 a9 825 TUA A FEHT 900 U ) AT &1
I a4 A frar ufama st gfa gs @2
Harshit's salary increases from Rs 825 to Rs 900. By what
percent has his salary increased?

(@ 7.07% (b) 8.08%

() 9.09% (d) 8.56%

67. 9 IUWT A BT 50% B & TNT faar SiTan 8, @t gadt T=m
B ¥ 25% # gfg It 81 W= A 3R B & oI BT
When 50% of number A is added to B, the other number
B is increased by 25%. The ratio between numbers A and

BiS.icieiuernans
(@ 23 (b) 1:2
() 3:2 (dy 3:4

6s. Qg ampfad AOB go wayart sk OC
T R AT 81 41Q a:b=2:1, A aBTAF |

@)
(©)

69.

@)
(©)

70.

@)
(©)

71.

@)
(©

72.

@)
(©)

73.

G
A : b B
O
80° (b) 100°
120° (d) 140°

39 T ®1 gfig davd @dHeH) I Sk
ﬁr\qﬁﬁWBs'\ﬁtﬁﬁ’Iﬂ%aﬁ?n 22/7 %1

Find the surface area (in cm ) of a sphere whose radius is
133 cm and it = 22/7.

252376 (b)
222376 (d)

Y TRema &1 3 60 B, Ugeht uTd HwaH BT 3id
55 8 3NX SFTe oI+ T3l &1 65 | I T=, god
T 10 FA 1 R, qudf T=n @
The average of nine numbers is 60, the average of the
first five numbers is 55 and the average of the next three
numbers is 65. The ninth number is 10 less than the tenth
number. Then, the tenth number is:

80 (b) 70

75 (d) 85

TH He-R | 30 AleX Aepigd gl 3 deX Aepigd B
fRreTar forar ST 2 SR 39F WIH W Ia-t & A A
U STET 7T 81 3 ufthar @Y 2 IR SR e
STAT 8 | 3d HeR | fbra-r sreplga Av T 82

A container contains 30 liters of alcohol. 3 liters of alcohol
is taken out and the same amount of water is added in its
place. The same process is repeated 2 more times. How
much alcohol is now left in the container?

23.45 T 23.45 liters  (b)  12.34 TIeR 12.34 liters

21.87 7lIcX 21.87 liters (d) 1256 qleR 12.56 liters

A=, FufafEa as= 9% 1995 A 2001 F srafy A
TP HUH gRT AT & Yo &1 39 S+t A Frafa &
e BT 3UTd a8

fredt owl § vw ao g Pafa & g s & geg @1 s

242376
232376

1.6

1.5 14
14 1.25 .
1.3
1.2
114

1.55

1
i3 0.85 ¥osos

087 g6s
0.7
0.6 v
05
04
0.3
0.2
0.1

035

1995 1996 1997 1998 1999 2000 2001

?ﬂélggyaﬁlgﬁswmﬁmq@mﬁ

72 (b) 56
28 (d) S UAM § data is
insufficient
cos 4x BT HIF JTd B

Mob. - 01141676717,9312712114
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@
(©

74.

@
(©

75.

@)
©

76.

@

find the value of cos 4x

1+ 8sin” x + 8sin”x (b)  1-8sin®x+8sin®x
8sin’ x + 8sin" x - 1 (d) ST IS 5 None
of these

Tlﬁx+y=7,?ﬁx3+y3+21xyaﬂ'qﬂ%:

If x +y = 7, then the value of X+ y3 + 21xy is:
243 (b) 143
343 (d) 443

TS a%g 4 9bs | 10 Hiex 3R b 2 A A 37 14
e & a1 Hd! 8 | a5 D1 3N fa T }?

An object travels 10 m in 4 seconds and then another 14
m in 2 seconds. What is the average speed of the object?

45 /AHS45m/s (b)) 42T /IAHFS 4.2 m/s
43WRAFS 43 m/s  (d) 4 H/ADS 4m/s

[ General Awareness ]

YRd & Fafafaa # F 5 wsikit 3w &1 dawa
YA FHE?

In the Indian judicial system, writs are issued by:

A A AT The  (b)  Had I T The
Supreme Court only High Courts only

In which state, for the first time, a 'birth certificate' has
been given to a transgender?

(@ P (b) TSI
Tripura Rajasthan
(c) SfEH (d) RifaeH
Assam Sikkim
82. s AfRAATTgRITH F AT E?
Which of the following is another name of Vitamin A?
(a) ﬂ%@m‘f Riboflavin (b) TS Retinol
(c) FHTPBRIA Calciferol (d) T Thiamine
83. AW 9% ¥ fpy wd A SaF-vent f{urT #

@)

(©)

84.

@)
(©)

TYTYAT BI?

Which of the following is another name of Vitamin A?

PEE US® Qutab-ud-  (b)  SeATHRT lltutmish

din Aibak
§¢d Balban (dy X o el Razia Sultan

B 1 TRMTE 3 4 919 $T 3@ty F g wga vy
i ST & e g g2

Which Asian country has been elected to UN Statistical
Commission for a 4-year term?

HRd India (b)
I china (d)

SIS Sri Lanka
ETJFI'I%EH Bangladesh

©  PETIA AT MR () Tl A, I 85. forafiem & & R 1857 o1 Riste T R
ga R CE UThe e ATTeTY 3% e Which of the following has started the revolt of 18572
upreme Court and Hig AT The Supreme S, . ;
Courts only Court, High Courts and (@) g ? q Zamindars (b) m’@[e{Sep?ys
Lower Courts (c) T Peasants (d) SFHSHS §? El
Plantation workers
77. uifRufast & wefia 3: , o 5 ,
Ecology is related to: 86. 532”3 a?i%m FITWH?[%?
@) PRI G Cell fate (b) TRR & T 3R Which is not a browser for surfing the Internet?
FIATERUT Body structure (@) Internet Explorer 33?213 (b) Opera STRT
and environment URETRY
(c) =MFiber (d) uefl Birds (c) Mozillafirefoxm (d) Google T[T
TR
78. WIEATAgara &1 M fPa QA Je18? . ,
Saina Nehwal's name is associated with which sport? 87. "drdt X" “Wﬂ?}eﬂ%mﬁﬁﬁ@ﬁ%’
. ; "Sanchi Stupa" is situated in which District of Madh
@) éﬁﬂ.Tennls (b) mChess Pr:;:SL? upa" is situated in which District of Madhya
33 ﬁaq B i d ?Hl Boxi
© adminton @ oxing @) I Raisen (b) Q-ﬁUI?TBhopaI
79. O 4 BT Ug AT HRITIS B 7T S B2 (c) AR Gwalior () IS Ujjain
Who is considered the first real founder of Jainism?
(@ tIT‘J:lTU Parshwanath (b) FYHCT Rishabhdeva 88. ? ﬁm&l’lﬁ it i . AR
Y ot g <h ) Who started the painting with the film's posters?
© Tl Neminat (d)  SMIREAIH Arishtanemi (2) TR IORI satish (b) HSTd STaT Manjeet Baba
. jral
80. OId BIE IR ATyl F ded Wdd =0 4 AR, gure
T TSy gRT o T ST gaTdl © THIP.EFMF, (d) SRR Amrita
When a body falls freely under gravity, then the work Hussain Shergill
done by the gravity is .
" . 89. _  vie cafdda A wIdt Sr@aR Fast
(@ IHPRIHD Positive (b) TAPRIHD N(.egatlve Tt oAt
(c) [HZero (d)  SfTddTinfinity famous personality founded the Marathi
. - newspaper 'Kesari'.
81. mmﬂ‘?mﬁ q;fﬁ TR m P (a) Apar faas (b) JEIUYTS I
Mob. - 01141676717,9312712114 Page 8
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Name the memory that acts between the main memory

(c) AT TSIUC XY Lala (d) HEIET T Mahatma and the Central processing unit?
Lajpat Rai Gandhi (a) S AT Cache Memory (b) X SReR HARY Register
Memory
90. ___ fopefl =l Seurfea awqeit ok daneil w1 gt (© adord B virtual (d (B) 3R (C) @I Both (B)
e ¢ SR 53 U Fafre W e & arar srar 81 Memory & (C)
is the total value of goods and services produced
in a country and is measured over a specific time frame. 97. f5u WY vl grT fay &1 Q@ T871 fAel =R
(@) TR-H I Non-tax (b) THAISHIN °TeT IUIE YU 3 ar= fhar T g2
revenue Gross fiscal deficit The world's largest private communication satellite
(© & d gole g gadq (d) Wmm Gross 'Jupiter 3' has been launched by which space agency?
Gross budgetary support domestic product (@ A1 (b) m
NASA ISRO
91. T FTHA R E? () R @ ST
What is the source of Narmada river? .
. jaxa spacex
(a) Satpura 9d4si (b) Amarkantak HHIHCH
(c)  Brahmagiri SRR (d)  Slopes of the Western 98. WRd P Afaur & ugen Wy f adf fpar ma ure
Ghats 3! °Te & gaq In which year was the first amendment to the
Constitution of India made?
92. SoHHT WEHT 3R URHTY] WA b S FHT 3fe el @@ 1951 (b) 1952
qcl S WRATYR P pET T (c) 1950 (d) 1953
The atoms of the elements having same difference
between mass number and atomic number are called 99, ﬁaﬁ%aﬁ%aﬁ#@ﬁmu‘gaﬁm%v
: Which of the following is the composition of Banabhatta?
@ GHATI-XET Isobar (b) WW Isotope.s (a) XYM Sur Sagar (b) B'Gf?lﬁ_d Harshacharita
() THYGIAF Isotones () P fpewel TIE (c) a1 IHRI Geetha (d) 4TS AT Bhagavad
No option is correct. Ramayan Geeta
93. e 5 @ forwr Wt A waifira &2 100. WRd & fFufafEd ¥ @ v wshht 3w &1 dawa
Scissor term is associated with which of the following mm%, ’
spgrt? Which of the following neighbouring countries of India
(@) BIPI Hockey (b) W@ Kabaddi has the smallest area?
(©) P Wrestling (d) Ul Polo (@) WIMHR Sur Sagar (b) YCIM Harshacharita
c) AU Geetha Ramayan d) Ul Bhagavad
94. Yftr 3fRrrgur, yafd iR ga=uT 3iff~am, 2013 © @ Geeta
# 3Ra ganaen ok uReRfa ¥ AR ¥ dgd
ARmfEa Y & IR Teu &1 smpa iR Hefor
FH 3t Wi fpads ura g2
Who is vested with power in assessing and determining
the market value of the land acquired under the Right to
Fair Compensation and Transparency in Land Acquisition,
Rehabilitation and Resettlement Act, 2013?
(@) THURINAG ARSER  (b) TR (i)
Village Administrative District Collector
Officer
(c) SU-USHIS Sub- (d) TEHIWGR Tehsildar
Registrar
95. "WRY@ T A A (@ BT AW W B U B)
o1 frd TS0 GRTIRE P S 72
“Gharoki Pechan Chelik Naam” (daughter’s name is a
home’s identity) scheme is launched by which state?
(a) dHTATG Tamil Nadu (b) TRHTEIA U= Himachal
Pradesh
(c) JTRGS Uttarakhand (d) I A West Bengal
96. 39 AURY HT AW ¥a13¢ o g=&T AN 3R ded
TR gfAe & g $H Bl 82
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